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Nete : Figures to the right side indicate full marks of each question

Q.1 State the meaning of Financial Management and discuss the objectives and scope of

[18]
Financial Management.
OR
Q.2 Write Notes on ' [1] Public Deposits [2] Commercial Banks [3] Foreign Capital [18]
Q.3 “Aman” Limited has been using machine “Z” to produce a chemical product for the [18]

last two years. Now company’s management thinks to establish machine “X” or machine
“Y” instead of existing machine. Following details are given to you.

Particulars > .4 “y»

Book Value (Rs.) 1,186,000 -- --
Resale Value {Rs.) 1,160,000 - -
Purchase Price (Rs.) - 1.80,000 2,066,000
Variable Constant Cost (Including Wages) :

Per unit (Rs.) 3 1.50 2.50

Production per hour (Units) 8 8 12
Scrap value of Machine (Rs.) 10,000 15,000 18,000

» Following details are also given to yow:

Per unit price Rs. 20
Cost of material per unit Rs. 10
Annual working hours 2,008

\4

Working life span of each three machines are 5 years (from current period)

» Company debited (calculate) depreciation as per straight line method. It is estimated that
Rs. 8,000 additional expense is eccurred for special advertisement to sell the additional
prodection of machine “Y”,

» Assume that Cost of Capital is 10% and Tax rate is 50%. Present value of Rupee 1 is
receivable at 10% rate at the end of the year is as below:

Year 1 2 3 4 5

Present Value | 0.909 | 0.826 | 0.751 | 0.683 | 0.621

> Analyse the appropriation of proposal and give your advice by using Net Present Value and
Prefitability Index methods.

OR

Q.4 What is meaning of working capital ? Explain types and factors affecting the working  [18]

capital.
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Q.5 Write notes : [1] Types of inventory |2} “ABC” analysis [3] Credit evaluation [17]
OR
Q.6 |A] Give the meaning of Cost of Capital and state various concepts of Cost of Capital. [09]
{B] “Aum” company issue 16,060,000 Rs. Debenture, face value Rs. 100 of each [98]
debenture at the rate of 10%. If tax rate is 50%, find out cost of debenture in following
circumstances,
1} If debentare issue at face value,
2) If debenture issue at 6% premium.

3) [If debenture issne at 6% discount.

Q.7 [A] Give the meaning of Financial Planning and explain the factors affecting Financial [09]
Planning.
{B] Give the meaning of over capitalization; explair causes and remedies of over f08]
capitalization.
OR
Q.8 [A] Give the meaning of capital structure and state the factors affecting capital structure. [09]
B} Financial requirement of a company is of Rs. 5,00,0000, and the Earnings before  [08]
interest and Tax (EBIT) of a company is of Rs. 2,00,000. Company fulfills its |
financial requirement through following three options. Tax rate is 50%.
Optios:
1) Only issue equity share each of Rs,10.
2) Issue 10% debenture of Rs. 2,00,000 and remaining amount through equity share each
of Rs.10.
3) Issue 10% debenture of Rs. 3,00,800 and remaining amount through equity share each
of Rs.10.

» Find out effect of Earning per share and Financial Leverage from the given options.

(1)
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